
Project III: LATEX Component1

My name is Francis Opoku. This is my second LATEX document.
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2. By completing the square, solve the equation 2x2 + 8x+ 1 = 0.

Solution:

2x2 + 8x+ 1 = 0 (1)

2x2 + 8x = −1 (2)

2(x2 + 4x) = −1 (3)
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Number of Times Out of fifty Repetitions
Outcome 1 2 3 4 5 6 7 8 9 10 Total Frac

TT 12 14 10 8 12 11 13 15 9 13 117 .234
HT 12 12 13 14 15 14 14 11 15 12 132 .264
TH 14 13 15 13 10 13 10 11 11 14 124 .248
HH 12 11 12 15 13 12 13 13 15 11 127 .254

Total 50 50 50 50 50 50 50 50 50 50 500 1.000
Frac (Fraction) is the ratio of the number of heads divided by 500

Table 1: Summary of Data for 50 Samples of Size 2
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